sinf = :—5 and cos@p = —% and 6 and ¢- lies in the second quadrant.
1. Determine cos6?
cos?0 + sin’6 =1
cosO = +4/1 —sin?6

If © lie in the second quadrant than cos6 < 0
, 2\’ 4 V3021
cosO = — 1—(—) =—[1- = -
55 3025 55

cos?p +sinp =1

sing = +41 — cos?@

If ¢ lie in the second quadrant than sing > 0

2\* 21 21
S""“”:V““’Sz“’i/l‘(‘g) - /EZT

3. What sin(¢ + 6)?

2. Find sing

sin(¢p + 0) = sinpcosO + cospsind

\/2_1<_\/3021> s ( 2> 2 37049 +4

5 55 " 5)55 275

sin(p + 0) = z

4. Find cos(¢p + 6)?

2 V3021\ V21 2 2v3021 —2v21
cos(p +6) = (— —) <— ) — =

5 55 5 55 275

5. Determine tg(6 — @)

tgo +tgop

tg(9—<p)=—1_tg9tg(p
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tgb = = = —
J cos® 21 V3021
55
V21
. _sing T V21
ggo_cosq)_ 22
5
2 . _Va
te(6 — ) = V3021 2 _ —4 — 63441
__ 2 V21 2v3021-2V21
3021 2

6. Equivalent to sin(6 — ¢)?

sin(@ — @) = sinBcos@ — cosOsing

_ 2 1 2y +3021+v21 —4+3v7049
sin(6 — ¢) =—<——)+ =
55\ 5 5 5 275
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